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 x +  = 2007 

2  x  x2 + x + 1 = 0 
N :

)  x  0
)  x3 = 1
)  x2005 + x2006 + x2007 = 0 

3 A  = x(x - 4)  = (x - 6)(x + 2) :
) =  - 12
)  ·  + 36 .
)  x(x - 6)(x - 4)(x + 2) + 36 

4 :
) (x2 - 1)2008 + (2 - 2x)2006 + (x2 - x)2 = 0 
) (x3 + 3x2 + 3x)(x3 + 3x2 + 3x + 2) + 1 = 0 

5  10 cm 
14 cm .

.

6  x :
 2006x2+ 2 -2x-2 +2 + 2007(x-1)4 +( -1)2  = 2

7 (x) = 2x - 1. 
) (0) + (-1) + (1) + (-x) = x 
) , :

λΡ(
2
1 ) - 2Ρ(

2
λ ) = 3-

2
λ
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8 α = 
2
λ (x+

x
1 )  και β = 

2
λ (x-

x
1 ), : 2 - 2 = 2.

9 ,  10. 

.
 224cm2, :

) .
) , .

10 A  -  = 1 :

 (  + )( 2 + 2)( 4 + 4)( 8 + 8)= 16 - 16

11  x  0  x+
x
1  = 1  :

) x2 - x + 1 = 0 ) x3 = -1 ) x2001 + x - 2004 = 0. 

12 N :
) 2 - (  + 1)(  - 1) = 1 
) N  6,786952 - 7,78695 · 5,78695 = 1 

13 α + β = -
1 4
3  και α · β = -

9 8
5   :

) 2 + 2

) (2  - 1)2 + (1 - 2 )2 + 28(  + )

14  = 20072 + 4015 .
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) ;
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)  x + 2 
(x) = x3 + 6x2 + 12x + 8 .

)  (  + )2 = 2 + 2

,
 2

)  2x2 + 7x + 3. 
 2x + 1  x.

)  -  = 2 2 + 2 = 20 :
i)  · ii) 3 - 3

) :
i) x3(  - ) + 27(  - )
ii) (3x - 2  + 3)2 + 6x - 4  + 7

)  x  3x2 + 5x + 3 = A + B(x - 1) + (x - 1)2

, , .
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) A α - β = ( 23) (23 +− ) :

     A = (  + )2 - 4  + (  - )2007

) α + 2β +
2
γ  = 10 
:

Α = α2(α+
2
γ )2· (α + 2β) 2  
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) T ;

)
.

)
i) ( x - …)2 = … - …+ 4 

  ii) ( …-…)2 =  …+ 25 - 10

) (x) = x2 - 3x + 1 Ρ( 12 − ) 

 2

) 14 + 6 5
3 + 5  

) :
 = x4 - x2,  B = x3 + 2x2 - x - 2  - 

) :
         i) O 2 + 7 , .
        ii)  : 2 - 2 + 1 , , .
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3 + x
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